

Mindy Weiss

P0:

Shipping Address:

Invoice Date: December 17, 2024

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Ceremony Area					
	Fabric Treatment in Grey Velvet IN stock Drape Ceiling inside - 20- Double-sided Pullbacks for all Legs 5' Wide Valance in Grey for inside and Outside	1	\$14,400.00	Т	\$14,400.00
	1- 40' x 10'H Wall to Be installed and torn down for changeover				
	Dining Chairs - Monaco - All White 17ân M âm X W9ân M ân X 38ân M ân M SEAT DIMENSIONS 18ân M ân M X19ân M '	96	\$30.00	Т	\$2,880.00
	Dining Chairs - Aspen - White Wood W/ White Linen 18" X 21" X 32"H	96	\$30.00	Т	\$2,880.00
		Total Ceremony Ar		rea	\$20,160.00
Cocktail Switch					
	Bars - Cartagena - 16' Round Bar - Black Oak Option 1 16'Diam x 24"w x 42"H - Inner diameter 12' - 6 pieces in total	1	\$3,360.00	Т	\$3,360.00
	Barback - Boston - Round W/ Plexiglass Tier Shelves 4'2"D x 7'2"H - Color Upon Request	1	\$360.00	Т	\$360.00
	Chairs to Ve re used for Cocktail Tables	40	\$0.00	Т	\$0.00
	Sofas - New York - Grey W/ Nailhead Trim 8' 8'W x 37"L x 32"H	4	\$360.00	Т	\$1,440.00
	Club & Lounge Chairs - New York - Swivel Chair Grey Velvet 28"Diam x 34"H	4	\$144.00	Т	\$576.00
	Ottomans - Standard Pod in Grey 18"RND x 17"H - Cover Color Upon Request	6	\$42.00	Т	\$252.00
	Coffee Tables - Bruges - Multi Color 60"W x 26"D x 12"H - Can be custom painted	4	\$300.00	Т	\$1,200.00

Description		Qtty	Price		Total
	Mix and match Pillows Greys - White	24	\$30.00	Т	\$720.00
	Bars - Monaco - 5pc Round (e/ Bar: 4 Large- 1 Small) OPtion 2 With Custom Glass insert painted in Grey or white 16'10"Diam x 3'7"H - Color Change Upon Request	1	\$5,400.00	Т	\$5,400.00
7	Stand Up Tables - Las Vegas - Low Cocktail Table - Multicolor Option 1 36"R x 30"H - Can be custom painted	8	\$276.00	Т	\$2,208.00
	Stand Up Tables - Las Vegas - High Cocktail Table - Multicolor option 1 36" x 40"H - Can be custom painted	4	\$330.00	T	\$1,320.00
	Stand Up Tables - Siena - Round Wood OPtion 2 30" X 41 5/8" H	4	\$330.00	Т	\$1,320.00
	Small Dining Tables - Siena - Round Wood OPtion 2 29 3/4" X 30" H	8	\$300.00	T	\$2,400.00
		-	Total Cocktail Swi	tch	\$20,556.00
Ballroom					
	Mix and Match Pillows Greys - White and Green	30	\$30.00	Т	\$900.00
	Dj Booths - New York 30"W x 4'L x 42"H - Color Upon Request	1	\$660.00	Т	\$660.00
	Custom Made Front For DjBooth With Either Tennis Balls or Rackets	1	\$300.00	Т	\$300.00
	Fabric Treatment in Charcoal Grey Velvet In stock Drape to Cover - 120' x 8'4" Height Lower Section With Valance 250'x 10 and 14 for Center High Point With Valance 140' x 12'H For Solarium with Valance	1	\$10,800.00	Т	\$10,800.00
	Custom panels with Tennis Balls and Rackets 4'x 8'H for Lower Section To be with Tennis Balls	1	\$1,440.00	Т	\$1,440.00
	Custom Made Penels With Tennis Balls and Rackets Main Room 6- 4'x 10'H 3 to have Rackets and 3 to have Balls 1 4' x 12'H To have rackets	6	\$1,680.00	T	\$10,080.00
	Custom Made Panels with Tennis Balls and Rackets For Solarium 2- 4-'x 11'H to have balls 2- 4'x11'H to have Rackets	4	\$1,680.00	T	\$6,720.00
	Dining Table - Las Vegas - Colored Top 8'x48" High Gloss White 8'w x 48"D x 30'H - Custom Top & Base Color Upon Request	12	\$480.00	Т	\$5,760.00

Description		Qtty	Price		Total
	Dining Table - Las Vegas - Colored Top & Base Round 66" High Gloss White 66"Diam x 30"H - Custom Top & Base Color Upon Request	6	\$420.00	T	\$2,520.00
	New Table 0 las Vegas Color Top & Base round 66"	1	\$480.00	Т	\$480.00
	Banquettes - Monaco - Straight White Channeled W/ Skirt 6' 6'W x 39"L x 30"H	10	\$360.00	T	\$3,600.00
BOOST	Coffee Tables - Kids - Shoe Box Painted as TEnnis Court 49"W x 25"L x 18"H	4	\$216.00	T	\$864.00
	Coffee Tables - Square - Multicolor Painted as Tennis Court 48" x 48" x 18"H	2	\$300.00	Т	\$600.00
	New Coffee table- square Painted as Tennis Court	1	\$300.00	Т	\$300.00
	Ottomans - Standard Pod 18"RND x 17"H - Cover Color Upon Request	22	\$42.00	Т	\$924.00
	Bars - New York - Straight Folding 12' For adults - 12'W x 31"L x 42"H - Custom Color Upon Request	2	\$1,440.00	T	\$2,880.00
	Custom Made front for New York 12'H Bar rackets and Balls	1	\$1,080.00	Т	\$1,080.00
	Bars - New York - Folding 8' For Kids 8'W x 30"L x 42"H - Color Change Upon Request	1	\$1,080.00	T	\$1,080.00
	Custom Made Front For New York Bar 8 Rackets and Balls	1	\$540.00	Т	\$540.00
	Umpire Chairs Price is estimated till final purchase	4	\$1,440.00	Т	\$5,760.00
	Barbacks - Slatted Birch - Multicolor 6'W x 17"D x 90"H - Can be custom painted upon request	4	\$294.00	T	\$1,176.00
	Custom Merch Front Counter, panels, Shelves - Pedestals -	1	\$5,400.00	Т	\$5,400.00
			Total Ballroom		\$63,864.00
Services	installation Day 1 Eriday ion 10th	o	\$650.00		¢E 200 00
	installation Day 1 Friday jan 10th	8 	\$650.00		\$5,200.00
	<u> </u>				\$5,200.00
	Installation Day 2 event Date Jan 11th Strike Team	8 10	\$650.00 \$550.00		\$5,200 \$5,500

Description	Qtty	Price	Total
Transportation	3	\$450.00	T \$1,350.00
Manager on site - pre production	1	\$2,500.00	\$2,500.00
Please make checks payable to Revelry, Inc.		Total Products	• •
Note: Prior to deliveries and pick-ups all invoices must be pay in full		bor/Services/Misc /ear & Tear (4.00%)	
Please ready the contract and sign it	W		
N.A.		: \$2,091.60	
Notes	T	\$0.00	
		Discounts	: (\$0.00)
		Total	: \$130,604.80
		Payments	: (\$0.00)
		Balance	: \$130,604.80